Math 29
PAL Worksheet 10

1. Find the roots, both real and complex, of the function f(z) = 23 — 822 + 25z — 26.
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2. Find a polynomial with real coefficients of degree 3 that has 2 + 3¢ and 3 as roots. Write your

answer in the form f(z) = aza® + a2 + a12 + ao.

3. Consider the rational function
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228 — 82" — 7025 + 33627 + 6302* — 453623 + 11342% + 19440z — 23328
- 5a® — 2527 — 18020 + 10902 + 122524 — 1354523 + 711022 + 518402 — 64800

a. What is the domain of f?

b. Does the graph of f have any holes?

c. Does the graph of f have any vertical asymptotes?

d. Does the graph of f have any horizontal asymptotes?
e. Does the graph of f have any slant asymptotes?

f. What are the z- and y-intercept(s), if any?



